

$$\begin{array}{c} = \left(o'(z) \right)^{m} \cdot \left(1 + z \right)^{m} = \sum_{k=0}^{m} \left(- 1 \right)^{k} \left(\frac{m}{k} \right) \xi^{k} \right)^{m}$$

$$\begin{array}{c} = \left(o'(z) \right)^{m} \cdot \left(1 + z \right)^{m} = \left(1 + z \right)^{m} \cdot \frac{d}{d} \right)$$

$$\begin{array}{c} = \left(\frac{1}{2} \left(- 1 \right)^{k} \left(\frac{m}{k} \right) \xi^{k} \right) \cdot \left(\frac{m}{2} \left(\frac{1}{2} \right)^{m} \right) \xi^{k} \right) = \left(\frac{1}{2} \left(- 1 \right)^{k} \left(\frac{m}{k} \right) \xi^{k} \right) = \left(\frac{1}{2} \left(- 1 \right)^{k} \left(\frac{m}{k} \right) \xi^{k} \right) = \left(\frac{1}{2} \left(- 1 \right)^{k} \left(\frac{m}{k} \right) \xi^{k} \right) = \left(\frac{1}{2} \left(- 1 \right)^{k} \left(\frac{m}{k} \right) \xi^{k} \right) = \left(\frac{1}{2} \left(- 1 \right)^{k} \left(\frac{m}{k} \right) \xi^{k} \right) = \left(\frac{1}{2} \left(- 1 \right)^{k} \left(\frac{m}{k} \right) \xi^{k} \right) = \left(\frac{1}{2} \left(- 1 \right)^{k} \left(\frac{m}{k} \right) \xi^{k} \right) = \left(\frac{1}{2} \left(- 1 \right)^{k} \left(\frac{m}{k} \right) \xi^{k} \right) = \left(\frac{1}{2} \left(- 1 \right)^{k} \left(\frac{m}{k} \right) \xi^{k} \right) = \left(\frac{1}{2} \left(- 1 \right)^{k} \left(\frac{m}{k} \right) \xi^{k} \right) = \left(\frac{1}{2} \left(- 1 \right)^{k} \left(\frac{m}{k} \right) \xi^{k} \right) = \left(\frac{1}{2} \left(- 1 \right)^{k} \left(\frac{m}{k} \right) \xi^{k} \right) = \left(\frac{1}{2} \left(- 1 \right)^{k} \left(\frac{m}{k} \right) \xi^{k} \right) = \left(\frac{1}{2} \left(- 1 \right)^{k} \left(\frac{m}{k} \right) \xi^{k} \right) = \left(\frac{1}{2} \left(- 1 \right)^{k} \left(\frac{m}{k} \right) \xi^{k} \right) = \left(\frac{1}{2} \left(- 1 \right)^{k} \left(\frac{m}{k} \right) \xi^{k} \right) = \left(\frac{1}{2} \left(- 1 \right)^{k} \left(\frac{m}{k} \right) \xi^{k} \right) = \left(\frac{1}{2} \left(- 1 \right)^{k} \left(\frac{m}{k} \right) \xi^{k} \right) = \left(\frac{1}{2} \left(- 1 \right)^{k} \left(\frac{m}{k} \right) \xi^{k} \right) = \left(\frac{1}{2} \left(- 1 \right)^{k} \left(\frac{m}{k} \right) \xi^{k} \right) = \left(\frac{1}{2} \left(- 1 \right)^{k} \left(\frac{m}{k} \right) \xi^{k} \right) = \left(\frac{1}{2} \left(- 1 \right)^{k} \left(\frac{m}{k} \right) \xi^{k} \right) = \left(\frac{1}{2} \left(- 1 \right)^{k} \left(\frac{m}{k} \right) \xi^{k} \right) = \left(\frac{1}{2} \left(- 1 \right)^{k} \left(\frac{m}{k} \right) \xi^{k} \right) = \left(\frac{1}{2} \left(- 1 \right)^{k} \left(\frac{m}{k} \right) \xi^{k} \right) = \left(\frac{1}{2} \left(- 1 \right)^{k} \left(\frac{m}{k} \right) \xi^{k} \right) = \left(\frac{1}{2} \left(- 1 \right)^{k} \left(\frac{m}{k} \right) \xi^{k} \right) = \left(\frac{1}{2} \left(- 1 \right)^{k} \left(\frac{m}{k} \right) \xi^{k} \right) = \left(\frac{1}{2} \left(- 1 \right)^{k} \left(\frac{m}{k} \right) \xi^{k} \right) = \left(\frac{1}{2} \left(- 1 \right)^{k} \left(\frac{m}{k} \right) \xi^{k} \right) = \left(\frac{1}{2} \left(- 1 \right)^{k} \left(\frac{m}{k} \right) \xi^{k} \right) = \left(\frac{1}{2} \left(- 1 \right)^{k} \left(\frac{m}{k} \right) \xi^{k} \right) = \left(\frac{1}{2} \left(- 1 \right)^{k} \left(\frac{m}{k} \right) \xi^{k} \right) = \left(\frac{1}{2} \left(- 1 \right)^{k} \left(\frac{m}{k} \right) \xi^{k} \right) = \left(\frac{1}{2} \left(- 1 \right)^{k} \left(\frac{m}{k} \right) \xi^{k} \right) = \left(\frac{1}{2} \left(- 1$$



